BEEXEE
20253 A31ARA
—RHAFEANREERIFR

B H
BB &8

Hne 7,000
REITE 3,544,155
EE=HEKR 1,131,714
HEHEEEE 4,682,929
RUNE 0
WENE & 1,134,508
AIhE M 0
RENEESE 5,817,437
AKX ERF 0
HEEERG 0
ZTOMEEEESS 0
BEE&EESE 0
BESE 5,817,437
Kihg 400
HIZE 9,900
IS 700
HYE 0
RIBEATE 70, 000
RBRESEt 81,000
BERFESE 0
BESE 81,000
IEEERBAESE 0
—H% IE R B 2 5,736, 437
IERRBIE &5 5,736, 437
BERVIEKBESE 5,817,437
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hkEEEx
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# H 2025%3A31H 2024%3A31H 1 i
b1 = 1,000 0 7,000
® & BT £ 3, 544, 155 5,250,770 A 1,706,615
iR 1T B = 1,131,714 2,182,160 A 1,050,386
WEEE A 4,682,929 1,432,930 A 2,750,001
R ' = 0 342, 680 A 342,680
wWoE ' OE 1,134,508 1,207, 391 A 72883
Bl th & A 0 181, 500 A 181,500
nBEEAR 5,817,431 9,164, 501 A 3,347,064
BEEAEt 5,817,431 9,164, 501 A 3,347,064
R fh i 400 245, 300 A 244,900
Hil =4 7 9,900 0 9,900
2 = B 100 11,000 A 10,300
il Y i 0 0 0
Kbz N BiF 10, 000 710, 000 0
nBREAE 81,000 326, 300 A 245,300
=Li=t=Hi 81,000 326, 300 A 245,300
— A% IE IR B 8, 838, 201 9,905,976 A 1,067,775
IERBAEAET 8, 838, 201 9,905,976 A 1,067,775
BERUVERMESH 8,919, 201 10,232,276 A 1,313,075
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2024 4R 1B 5202553A31HE T

=

—RHEFAEARBEERIZR

Bfir: M
®A =8 JEINEE IR % 3
I —ARIERRBAEEIBIR D&
1. REBBEOL
(1) #¥EEIE
ZW= 2,219,000 2,219, 000 0
FEEZRRE 984, 000 984, 000 0
FHESERE 5,000 5,000 0
EARERE 315, 000 315,000 0
HPRERE 210, 000 210, 000 0
SV EI=E 705, 000 705, 000 0
E g 1,321, 687 1,078, 566 243,121
TEUA 550, 500 550, 500 0
FHIEERINA 357, 000 357, 000 0
T URIRA 193, 500 193, 500 0
HESILA 94, 050 94, 050 0
HAREFIRA 677,137 434,016 243,121
Ep &t o) 220, 000 211, 200 8, 800
Al il £ 0 0 0
=it - BRI 89, 100 0 89, 100
KEELER 232,100 222,816 9,284
gL 74, 500 0 74, 500
Z D 0 0 0
BrEFE AN 61, 437 0 61, 437
U 1,015 1,015 0
ZHF S 1,015 1,015 0
BRI ET 3,541,702 3,298, 581 243,121
2) BEEH
BXE 2,934,172 2,837, 347 96, 825
REFEES® 45,900 45,900 0
WRERXRE 215,117 215,117 0
BIEERE 130, 413 128, 215 2,198
=B 172, 340 172, 340 0
HELE 147, 262 147, 262 0
RIS A E 1,739, 383 1,650, 051 89, 332
AL 228,700 228,700 0
HiE 83,521 81, 968 1, 559
FitE 64, 861 64, 861 0
HE 106, 669 102, 933 3,736
S 3,709, 294 3,519,197 190, 097
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2024 4R 1B 5202553A31HE T

—RHEFAEARBEERIZR

Bfir: M
®A =8 JEINEE IR % 3

Ed 5 1,100 1,064 36
BIEERE 60, 939 58, 928 2,011
FNiml S A& 49, 425 47,794 1,631
HEMRE 0 0 0
LoiRS TR/ S 70, 000 0 70, 000
XiLEEE 18, 000 17, 406 594
FitE 3,504, 360 3,388,716 115, 644
HE 5,470 5,289 181
REER 6, 643, 466 6, 356, b44 286,922
S8 28 S5 ER A L AR I R AR -3,101, 764 -3,057, 963 -43, 801

Rk, 0
LERRE ISR -3, 101, 764 -3, 057, 963 -43, 801

2. BEIMBBEOLR
(1) #¥EEMNIRE
BE R AEE 0 0 0
(2) BENER
BENEAG 0 0 0
LEIRREIMEREE 0 0 0
L HA— AR IE BRBAEE 1B IR EE -3, 101, 764 -3, 057, 963 -43, 801
— R ERMERERS 8,838, 201 8,043, 916 794, 285
— R ERBI AR S 5, 736, 437 4,985, 953 750, 484
I $5%E EKBERROE
L H H5 7E 1E IR BA E B R EE 0
EEERMEHEES 0
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78 (2024%4A1H~2025A3A31H) RE FExL

[ ONOED |
20205 EFH @ ~25/3%
ARE | HRE IELE " 24;1;5(/@3% 202 EFEE Q-0 FHHEH ES B
pisN=)-
= #HIRA 2,465,000 2,219,000] x 246,000
ERE 1,168,000 984,000] x 184,000(@8FF 146A @8FM 122A
BERE 7,000 5,000{ x 2,000|@1FM TA @1FM 5A
EARE 270,000 315,000{ O 45,000|@15F M 184 @15FF 214
HEhRA 270,000 210,000 x 60,000|@30FM 9%t @30FF 74
[SElEy5] 750,000 705,000/ x 45,000|@15FF  9#5000 @15FM  9tt470
G UN 2,127,000 550,500 x 1,576,500
FiiEERINA 1,127,000 357,000] x 770,000
PR ON 1,000,000 193,500 x 806,500
7—40vav7 0 0 0
HESNA 600,000 94,050] x 505,950 SURT Y LAQRE FEXF)
HESIA 600,000 94,050] x 505,950
ETEETTON 1,189,900 677,137] x 512,763
RN RTRR 680,000 220,000] x 460,000
BRI R 9,900 0] x 9,900
2 - BRAR 40,000 89,100| O 49,100
R L& R 300,000 232,100 x 67,900
FfERY LI 50,000 74,500| O 24,500
Z ot 110,000 61,437| x 48,563
O A 10 1,015 O 1,005
BT 10 1,015 O 1,005
LHRAER (A) 6,381,910 3,541,702 x 2,840,208
AR 2 HE 8,338,836 9,905,976 0
IRAEE (B) 14,720,746] 13,447,678 0
[ZHDER)
ARE | HRE N 3= 2024FEFH T 24?1Azfg§ 2024 EFEE Q- FHEHH S L
pEN=)-1
EEE 3,747,450 3,713,199] O 34,251
FHERE 3,522,850 3,625,199] x 102,349
EHERERE 3,300,000 3,300,000 0[250F /A +E&E%10% 275FM/A
® B = 0 1,100| x 1,100
BEE R E 28,000 46,089 x 18,089
mooR #® 25,000 49,425 x 24,425 - BEEA R - Rk
wEXBE & 0 0 0
H O B B 5,000 0| O 5,000
Y- N—EARE 14,850 0| O 14,850(4-n ~EFA%F 13200, N v} 1650
TrANA-H-FA YRS FIR 0 14,850 x 14,850
ki <1 150,000 213,735| x 63,735 | B #RERT148,500
NEE 113,600 70,000] O 43,600 MERK (5% E)
HRE 28,000 18,000] O 10,000 BATH£18F M- BATH218FH, BEIFEA10TR [BETSES XA L
REREE 0 0 0
EEES 83,000 o[ O 83,000
i B B R 3,300 o[ O 3,300 S E 72 (@3,000) +75
BES - BER 19,800 0| O 19,800 T2 (@3,000) X 645
WwHZ AR 0 0 0|214F =450
wEZ 8% 9,900 0| O 9,900|web &35 2 (@3,000) x 3+7%
o - THEER 0 0 0|21 4 %450
LR - 2BZ%8 0 0 0[214 E3#5135,7051
Zz D 50,000 0| O 50,000| <EFDE > ~DEAEH
] 3,990,730 2,930,267 O 1,060,463
R - BRRTE 2,100,330 1,926,713| O 173,617
mooR 1,800,000 1,739,383| O 60,617 | L A 71-1: 777FF, 71-2 : 518FFM, 71-3: 370 FH
Al ] [ 0 0 0
®O% B 40,000 54,961| x 14,961
J-STAGE7y7 B-F 60,000 93,060| x 33,060
R P ED R w4 0 0 O|F5RIFHEAR T B
ERFER 200,000 38,979| O 161,021 [$RXFERF = v 7 iR RIREE
% & F HEN 330 330 0
REFE 117,000 168,596 x 51,596
BIEERE 0 51,776 x 51,776 | s E#Hk%E
T7ANA=h=74 28 116,000 116,160 x 160
fided 1,000 660 O 340
B 673,000 479,965 O 193,035 |3t FERafE
BEREES 30,000 45,900 x 15,900
5 @& X 100,000 47,2001 O 52,800| 5% (FLNKS)
wEXBE & 150,000 195,280( x 45,280(3%
B s E WA 8,000 17,687| x 9,687
E 7= 0 111,840 x 111,840
H # 40,000 0| O 40,000
Ed % 40,000 33,411 O 6,589|34 x @11,137
= # 300,000 21,913| O 278,087
fid = 5,000 6,734| x 1,734
SRy 580,400 303,174] O 277,226 webBikE
B 7 5,000 5,989] x 989
=" * 199,650 181,500| O 18,150
Ed % 50,000 11,137| O 38,863
= # 30,000 42,948 x 12,948
% =4 6,000 0| O 6,000
ES # 288,750 60,500| O 228,250
# & 1,000 1,100| x 100
HETH 440,000 o[ O 440,000
£ E X H 440,000 o[ O 440,000|70 —> - LATA T3> MMU~BBEZILN
fid & 0 0 0
FERGT 0 0 0
moR #® 0 0 0
®O% B 0 0 0
R%EFER 0 0 0
RSB NHEE 50,000 20,387 O 29,613 FI6EZEET
R ] 50,000 19,837 O 30,163 E36EIEE T
ki = 0 550| x 550
ZOfEE 30,000 31,432] x 1,432
O @ B 30,000 31,102| x 1,102|®E L 2m
Ei3 & 0 330 x 330
F m B 0 0 0
Lz A (C) 7,738,180 6,643,466 O 1,094,714
LR ER (A) - (C) A 1,356,270 A 3,101,764 x 1,745,494
RIpRRINE A3 (B) — (C) 6,982,566 6,804,212 0
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